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4  Note: This is a compulsory practical problem. This question can be related to either

renewal of Bills of Exchange or Transaction rehated to 1 drawer and multiple drawees.

' You are expected to prepare Journal entries and sometimes Ledger Accounts either in

I
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' your answer, In journal entries narration is required to be given. 1/2 mark is allotted
- for each narration.

Journal of éAJ A

= T el
1 Cash/Bank A/c | et w8 f SD; 10,000 | 7
Pradhan's A/c Or. 1 30,000 |
To Sales A/c | 40000
(Beng the gouds sold and part. poynent )
) received)
2 Bills Receivable !/c i 0 Dr. " 30000 | N
ToPradhon's Alc P | 30,000
(eirg the occeptonce received from | | |
: Prochan) I
3 Bills sent for Collection A/c Dr. 30,000 i
2 To Bills Receivable A/c 30,000
(Being the bill sent to the bank for collection) ey
E) Pradhan's A/c Dr. 30,000
To Bills sent for Collection A/c 30,000 |
(Being the bill dishenour for non payment) iy
| 5 | Cosh/I Bank A/c B= Dr. 15,000
 |Baddebtsae r. 15,000
i ToPradhan's Alc 30,000 |
(Being 50% o the ameunt due recovered
I from Pradhan)
. | = ShaSte _— Total : 160,000 | 160,000




_ Working Notes:
(1) Amount recovered by y Raja from Pradhan=50% gf_ (Amwnt “of bill__

b

{ In the Ledger of RAJA o
' Pradhan's Account Cr.
__|Date|  Particulars | Amount [Date] oo ticuiars Amauns
T T
|1 [Tosdesae | 30000 2 |ay it Recenabie arc| 30000
 (Credit Sale) e, | (Acceptance reigivgq_)_
To Bills Sent for 5. | By Cash/Bank A/c | 15,000
7 __»Coll‘erc_:tii‘og Alc | 30,000 (Amount recovered)
L (Bill sent to the bank) | 8y Bad Debts A/c 15,000
! L I (Bad dc&!s incurred) .
- i _L|_S00007\ 4 50000

dishonoured) = %‘Zid;b_dd =215000.
il (2) Ba_d debts incurred by Raja = Amount due — Amount recove_red
= 30,000 — 15,000 = ¥ 15,000,



5 ‘ Note : In this question there will be 2 problems carrying 10 marks each, out of which
' students are expected to attempt any one. The firs¢ problem will be on Dissolution of
 Partnership Firm and the Second problem will be on Accounting of shares or

| Note : This question is on Dissolution of Partnership Firm where, students are

* expected to prepare Journal entries or Ledger Accounts such as Realisation Account,
Partners’ Capital Accounts and Cash Account or Bank Account. In case of insolvency

- of all partners, additional Accounts called Deficiency Account is also required to be
- prepared. In such case external liabilities such as Sundry Creditors, Bank Loan, Bills

' Payable, etc. are not transferred to Realisation Account. They are dealt with

. separately.
3 Tl In the books of PARTNERSHIP FIRM
Dr.  Realisation Account Cr,
Amount |Amount| Amount | Amount
| Particulars z z Particulars ? z
| To Sundry Assets : By Sundry Liabilities 39,700
| Plont and Machinery A/c | 40,000 (Sundey Creditors) | |
= | Furniture Ave 12,000 ByR D D. Ale 1,000
| swdyDebtorsa/c | 61000 By Bank A/c:
StockA/c | 28300141300  Plant and Mochinery |30,000 |
. To Bank A/c 38000|  SundryDebtors | 58,000 | 88,000
| (sundey creditors) By Akbar's copital A/c | | 10,000
| ToBakarc 2000|  (Funiture
| (Realisation expenses) | ayBirbal'scopital e | | 27000
(Stock)
I By Partners' Capital A/cs
N Akbar 5,360
Birbl 6,240 | 15,600
= e300, 0 1,81,300




o Partrers’ Capital Accounts cr.
o biidors Akbar | Birbal I Pt;rticult;rs Akbar | Birbal
‘ 5% T - L4 | T
ToRealisationA/c| 10,000| 27,000| By Balanceb/d | 60,000 40,000
(Assets taken | By General
over) : Reserve A/c | 12,000 8000
ToReadlisationA/c)  9360| 6240|  (Transfer)
(Loss)
To Bank A/c 52640 14,760 ’
(Final settlement) 7
- 72,000 48,000 D 72,000| 48,000
Dr. ~Bank Account Cr.
Particulars Amount ST e Amount
LR T T
' | To Balance b/d 19,400 | By Realisation A/c 38,000
To Realisation A/c 88,000 (Sundry Creditors)
(Assets sold) By Realisation A/c 2,000 |
(Expenses paid)
By Akbar's Capital A/c 52,640
- . (Final settlement)
By Birbal's Capital A/c 14,760
| (Final Settlement) |
1,07 400 1 M
. Working Netes : = -

(1) Debit balance of Realisation A/c
= Debit side total — Credit side total
=1,81,300 - 1,65,700 =T15,600
Debit balance of Realisation A/c shows loss incurred on realisation of

assets and liabilities.



Division of Loss :

Akbar's Share.in Loss:-% « 15,600 =2 9,360

Birbal's share in Loss = % x 15,600 =X 6,240,
' (2) Division and trasfer of General Reserve to credit side of Partners’.
Capital A/cs :

Akbar's share in General Reserve =% x 20,000 =% 12,000.

‘Birbal's share in General Reserve ='§ x 20,000 =7 8,000.

- Note : This question is related to issue of shares or debentures by a Joint Stock |

Company. In the answer to this question, you are expected to prepare Journal Entries
in the books of Joint Stock Company. In some cases you may be asked to show
— relevant extracts in Balance Sheet. In joumnal entries, narration is required to be
written, 1/2 mark is allotted for each narration.

Journal of MODERN CHEMICALS €O. LTD

. | Date Particulars !,;,ﬁ Dezb it Crgdit
1 |Bank A/c Dr. . 3,25,000
To Equity Share Application A/c 3,25,000
(Being share application money ¥ 5 per share
received on 65,000 shares)
2 | Equity Share Application A/c Dr. 3.25,000
To Equity Share Capital A/c 3,00,000
To Bank A/c 25,000
(Being application money transferred to share
oapitai.}m& excess apphcotoon money refunded)




3 |Equity Share AllotmentA/c  DOr.| 300000
| To Equity Share Capital A/c el __| 300,000
(Being allotment money ¥ 5 per share due on
60,000 shares)
4 [Bamkare o | |3oomo|
To &puity Share Aliotment Ale 3,00,000
(Bcing allotment money received )
[ 757 | ety Share First call A/c br.|  |240000
To Eqmty Share Copltal Alc 2 40000
AR (Being first call mo money!-‘vpershoredueon
60,000 shares) Sl y =
[} Ba\k Aic G s br. 7 240,000
To Equ-ty Share First Call A/c E _2~4g 000
{Being first call moncy received)
7 Equity Share Second Second Call A/c Dr. 1,80,000
To Equity Share Capital A/c 1,80,000
' (Bemg second call mouy! 3 pershnnedueon
| 60000 shares) . N
8 | BankAlc P W T
Equity Share Second Calls in Arrears A/c  Dr. 300
To Equity Share Second Call A/c 1,80,000
| (Being second call money received on all shares | | it N
except 100 shares) —3 T
Tg@ol - 20,90,000 |20,90,000




. Working Notes :
' (1) Money refunded on excess appllications received

= Money received on application — Money transferred to share capital.
= 65,000 x 5 - 60,000 x 5= 3,25,000 — 3,00,000 =¥ 25,000,

' (2) Money received on second call = 59,900 x 3 =% 1,79,700.

(3) Equity share second calls in arrears = 100 x 3 =¥ 300.

;I‘AU.’"'!" _'1 SCNEeme



6 - Note: Thisis a compulsory practical problem set on Accounts for *Not for Profit

. Concem.” In the answer, Income and Expenditure Account and Balance Sheet of Not

for Profit Concern are required to be prepared on the basis of Receipt and Payment |
- Account and some adjustments. On the debit side of Income and Expenditure Alc,

-

~ only revenue expenditures and on the credit side only revenue incomes are to be —
- shown. Give proper accounting treatment for outstanding and pre-received subscrip-
| tions, outstanding expenses, capitalisation of incomes, depreciation on fixed assets,

| etc. Balance Sheet is to be prepared on the same line as we prepare in partnership final |

In the books of ADARSH CULTURAL CLUB, MUMBAL.

2 Income and Expenditure Account =
D¢ for. the year ended on 31st Manch, 2013 =
S h— Amount | Amount Tncome Amount | Amount |
, B e
To Salaries 35,300 By Subscriptions 48,000
|| Less:Previousyeor's | | Add: Outstanding for | |
 loutstanding salaries paid | 1,300 current year 2,000| 50,000
E==% 34,000 By Drama Receipts | 28,000 B
Add : Salaries cutstanding ~ Less : Drama Expenses| 16,000 | 12,000 C -
 for current year 700| 34,700 i
To General Expenses 8,400 B
2 To Printing & Stationery 4,200 N
To Depreciation on s
| Fumitwee 5,000 =
To Excess of Income over
| Expendituwe (Surplus) 9,700, LI
| 62000 62,000




Amount | Amount | il st Amount | Amount
Liabilities : - Assets : :

Capital Fund 257,000 ‘Buldings 2,50,000

Add : Surplus 9,700 |2 66,700, Furniture 20,000
Building Fund 50000 | Add: New furniture

Add : Donation for | pfrchased e 10,000
| Buldingfund | 20,000] 70,000 | 30000

Subscriptions received | Less: Depreciation | 5,000| 25,000

in advance 2,000 Outstonding sub%cnptnon

Outstanding Salaries ' for 2012-13 2,000

for 2012-13 | 700/ cash ot Bank 57,800

Cash in Hand B 4,600

| 1339400 | 13.39.400

- Working Notes :

Balance Sheet as on 31st March, 2013

| (1) Outstanding subscriptions for the current ~year: 2012-13 are

calculated as follows :

Outstanding subscriptions

= Subscriptions due or receivable — Subscriptions received

= 500 x 100 — 48,000 = 50,000 — 48,000 = ¥ 2,000.

Outstanding subscriptions for 2012-13 % 2 OOO first added to
Subscriptions received on the credit side of Income and Expenditure A/c
and then it is shown on the Assets side of Balance sheet. T

' (2) Depreciation calculated on furn@rg | z
On the opening balance of ¥ 20,000 @ 20% for 1 year = 4,000
On New Furniture of ¥ 10,000 purchased on 1/10/12 ie.
for 6 months @ 20% e = 1,000
Total : 5,000

(3) Subscriptions of T2 000 recewed for 2013 -14 is shown on

the Liabilities side of Balance Sheet.



(4) Donations of ¥ 20,000 received for Building fund is added to building
fund on the liabilities side of Balance Sheet.

(5) Drama Receipts of ¥ 28,000 is greater than Drama expenses ¥ 16,000,
Hence Drama Receipts are shown on the credit side of Income and
Expenditure A/c and then Drama expenses of 2 16,000 are deducted
from Drama Receipts.

(6) Outstanding Salary of ¥ 1,300 for 2011- 12 is deducted from salaries
paid on the debit side of Income and Expenditur; A/c and outstanding
salaries of T 700 for 2012-13 is added to salaries paid and then same
outstanding salaries is shown on the Liabilities side of Balance Sheet.



- Note : This is a compulsory question (problem) on Partership final accounts. In this
- problem, tallied trial balance with 5 to 6 adjustments are given. Considering both,

students are expected to prepare Trading Afc, Profit and Loss Afc and Balance Sheet.

- Partners” Capital Accounts or Current Accounts may be prepared separately or they
- may be incorporated on the Liabilities side of Balance Sheet. Note that Profit and Loss

Appropriation Account is not expected. Give single effect (i.e. make entry at one

_ place only) for each item provided inside the trial balance and give two effects for

each item given in the adjustments, Marks for correct postings are allotted. First get

completed posting of accounting items and adjustments. At the end do the totalling

and balancing. The foflowing adjustments are frequently asked - .
1. Closing stock. 2. Outstanding and prepaid expenses. 3. Bad debts and

I R.D.D. 4. Depreciation on fixed assets. 5. Unrecorded sales or purchases. 6. Loss of
- insured or uninsured goods by fire or theft. 7. Interest on Lapital and interest

- 6 months if actual dates of drawings are not given.

+ drawings. 8. Goods withdrawn by the partner for self use.

Interest on  drawings is to be calculated for average period of

~ In the books of Partnership Firm of JAYA and MAYA
~ Trading A/c & Profit and Loss A/c

or.  for the year ended on 31st March, 2011 cr.
Amount | Amount | Amount = Amount
Particulars —‘;__' < Particulars 2 L

| To Opening Stock 32,800 | By Sales 1,94 000
| ToPurchases | 1,09,000 By Closing Stock | 22,600
| Less:Purchaseof |

furnitwewrongly | |
|| _included 10000| 99000
| | To Carriage Inwards 3700 |
| | To Wages and Salaries 28,600

To 6ross Profit c/d 52,500 =
(o=, 216600 | 216600




Tolnsurance | | 3,700 ByGrossProfitb/d 52,500
| To Rent, Rates By Commission 5,500
| & Taxes 14,600 | By Partners’
o Office Expenses _7300 CorrentAlcs;
|ToRB.D.D. A/c (Net Loss)
| New Reserve 4,400 Jaya 4,000
 |Less : Old Reserve |* 2,000 2400 Maya - 6,000 | 10000|
| o Depreciation on
Land and Building | 30,000 = |
Plant and Machinery, 6,000 .
Furniture 4,000 40,000|
68,000 68,000
- Dr. Partners' Current Accounts Cr,
Particulars i i Particulars sl i
T T T T
To Drawings A/c 500 1500 By Balance b/d 3400 9,100
To Profit and '
loss Alc 4000| 6000| By Balance b/d 1100 -
To Balance c/d - 1,600
- n 4500 9,100 4500 9,100
By Balance b/d 1100 — | By Balance b/d - 1,600




Dr. Balance Sheet as on 315t March, 2013 Cr.
Dibilities Amount | Amount Assets Amount | Amount
L4 T T T

Partners’ Land end Building | 3,00,000

Capital A/cs : Less : Depreciation| 30,000 2,70,000
Jaya * | 2,00,000 Plant and Machinery| 60,000

Maya 250,000 | 450,000 Less : Depreciation|  6000| 54,000
Sundry Creditors 45,600 | Furniture 15,000

Maya's Current A/c 1,600 | Add: New furhiture

Purchased 110,000
25,000

Less : Depreciation 4000 21000
Sundry Debtors 88,000

Less : RDD. @ 5% 4400| 83,600

Closing Stack 22,600

Cash in Hand 4700

Cash at Bank 40,200

Jaya's Current A/c 1,100

4,97 200 497 200

- Working Notes :

(1) Furniture of ¥ 10,000 purchased on 1/10/2012, wrongly included in
purchases is first deducted from purchases on the debit side of Trading
A/c and then it is added to Furniture on the assets side of Balance Sheet.

(2) Depreciation charged on furniture is calculated as follows : T
Depreciation on opening balance of furniture of

¥ 15,000 @ 20% p.a. for 1 year. 3,000

Depreciation on New furniture of ¥ 10,000 @ 20% p.a.

for 6 months (i.e. from 1/10/2012 to 31/03/2013) 1000
Total: 4,000



——
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, _.{'_h@) Depreciation on Land and Building of ¥ 3,00,000 @ 10% for 1 year

=% 30,000.

(4) Depreciation on plant and Machinery of ¥ 60,000 @ 10%

.

for 1 year = 6,000.

(5) RD.D.=5% on the value of debtors = - 88,000 =X 4,400,

(6) Wages and Salaries ¥ 28,600 is debited to Trading A/c.

{ [Marking Scheme Marks
(1) Trading A/c : -
(i) Entry for purchases carries 1 mark 1
. (i) Remaining 6 entries carry ;, mark ach {6 x ; ) 3

L(2) Profit & Loss Ale

(i) Entry for Depreciation ond entry for RB.D.D. A/c

corrylmm-keoch(ZJ)_‘ 2

(ii) Remaining 5 entries (excluding enfry for Gross profit b/d)

: carwgmarkenzh(‘.%-i) 22’
(3) Partners’ Current A/cs :
) 8 entries carry I mark each (8 7; ) 2
! (4) Balance Sheet
9 accounting entries carry - mark each (9 x -) 4.
: . Total Marks : 15 |

*ee




